MviccuLLocH
ILLUSTRATED PARTS LIST

MB 450-450C
550-550C

MB 470-470C
570-570C

MB 590-590C




]
0 ~NOO O WN =

36
37

38

41

42

45

43 e
44 e

240721
240722
240725
240720
240724
240726
240723
240727 Mex12
240740
240741
240956
240759
235910 m6x25
240739
235912
240939
240940
240738 M10x30
240737
240736
240757 M8x6,5
240735
240734
240732
240733 msx14
240746 wmsx40
235642
240743
240745
240744
241007
241008
240742
240756
240747
240748
235807 M5x45
240752 1500w
240753 1800w
240754 2200w
240725
240749
240750
240729 1500w
240730 1800w
240731 2200w
247362 1500 W
247363 2200 W

235216

- 1800W

O T G GO G G (T G LT U U O e > T G G N Wy N, TR G N, T % T 1N T o » Y N N O S N S N O i A T LG I A B oS B o B A R L T e

SERIAL NUMBER PREFIX - 01

O MB 450 - 450C - 470 - 470C - 490C
O MB 550 - 550C - 570 - 570C - 590 - 590C




	MB 450-450C, 550-550C
	IPL
	Parts List


